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Q1 Secondary moments and ultimate limit state

Part (a). Generally answered adequately, with the hint being used appropriately. The majority
of candidates were unable to work through to the fully correct secondary moment outcome, but
the approach taken by most students was correct.

Part (b). Generally answered very well. An easy component in this examination.

Part (c). Answered poorly on the whole, despite this being discussed during the lectures.
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Q2 Magnel diagram _
Part (a). By far the easiest question on the examination paper, and answered very well indeed.
Part (b). Answered very well by most candidates.
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Q3 Load-deflection response

My suspicion in this question is that those students who attended the voluntary laboratory
session performed far better than those who did not, given that the laboratory emphasised the
relationship between prestressing force and load-deflection response.

Part (a). Students either found this easy or struggled to even start the question.

Part (b). In general, a poorly answered question, with only very few students picking up all the
core issues.



